

2007. 5. 16

$$(17) \quad (\log x)' = \frac{1}{x} \quad (x > 0)$$

ε 定義から導出.

$$(18) \quad \frac{\log(x+h) - \log x}{h}$$

$$= \frac{1}{h} \log\left(\frac{x+h}{x}\right) \quad (\because \text{対数法則})$$

$$= \frac{\log\left(\frac{x+h}{x}\right)^{\frac{1}{h}}}{\frac{1}{h}} \quad (\because \text{対数法則})$$

$$= \left(1 + \frac{h}{x}\right)^{\frac{x}{h} \cdot \frac{1}{x}}$$

$$= \frac{1}{x} \cdot \frac{x}{h} \log\left(\frac{x+h}{x}\right)$$

$$= \frac{1}{x} \log\left(1 + \frac{h}{x}\right)^{\frac{x}{h}} \quad (\because \text{対数法則})$$

$$\frac{x}{h} = t \text{ とおくと } h \rightarrow +0 \text{ なら } t \rightarrow +\infty, \\ h \rightarrow -0 \text{ なら } t \rightarrow -\infty$$

$$\therefore \lim_{h \rightarrow 0} \left(1 + \frac{h}{x}\right)^{\frac{x}{h}} = \lim_{x \rightarrow \pm\infty} \left(1 + \frac{1}{t}\right)^t = e.$$

連続性から

$$\log\left(1 + \frac{h}{x}\right)^{\frac{x}{h}} \rightarrow \log e = 1 \quad (h \rightarrow 0)$$

$$\therefore \lim_{h \rightarrow 0} \frac{\log(x+h) - \log x}{h} = \frac{1}{x} \quad //$$

